[image: ]                                                            C=πd				[image: ]					r=
	  =3.14x8cm								  =

	  =25.1cm							            =8.0cm
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[image: ]        	r=				 					d=
	 =									  =
	 =2.9cm									  =31.83cm

[image: ][image: ]        	P=0.5C+d				 					P=C+s+s	
	  =0.5(2πr)+(2r)								  =2πr+10cm+10cm
	  =(πr)+(2r)	           						  =(2x3.14x5cm)+20cm
	  =(3.14x7cm)+(2x7cm)						  =31.4cm+20cm
	  =36cm									  =51.4cm
   


[image: ]	P=0.25C+2r				[image: ]					C=πd
	  =0.25(2πr)+2r									  =3.14x13 000km
	  =(0.5πr)+2r									  =40 820km
	  =(0.5x3.14x6.5cm)+(2x6.5cm)
	  =10.2cm+13cm
	  =23.2cm

[bookmark: _GoBack][image: ][image: ]	L=0.5C									C=πd
	  =0.5(πd)									 =3.14x70cm
	  =0.5x3.14x2.4km						           =220cm x 
	  =3.8km									 =0.0022km
				Rotations = Distance  C	or	Distance = Cx4500
					         = 10km  0.0022km	                 = 0.0022kmx4500
					         = 4545			                 = 9.9 km
				⸫ 4545 revolutions are needed to go 10km. A wheel with this   			                            diameter would travel only 9.9 km with 4500 revolutions.		                 
[image: ][image: ]	P=0.5C								C=2πr	
	  =0.5(πd)								  =2x3.14x15cm
	  =0.5(3.14x15cm)						  =94.2cm	
	  =23.6cm					Distance each second = 94.2cm  60s	
											 = 1.57cm/s
							Distance in 64s = 1.57cm/s x 64s				          					                             = 1m
[image: ][image: ]	C=2πr										
	  =2x3.14x10cm							C=πd	
	  =62.8cm									   =3.14x28mm		
											   =87.96mm x 
From 3:45 to 5:30, the minute hand makes 1.75 rotations	=0.08796m
Distance = C x 1.75									Rotations = Distance  C	
                 = 62.8cm x 1.75										         = 2m  0.08796m	
                 = 110cm x 										         = 22.73 (not a full 23)
                 = 1.1m
								
[image: ][image: ]	
	C=πd									There are 360° in a 
	   =3.14x0.7m								circle. This sector has 
    =2.2m									an angle of 45°.
                                                  								Therefore, it is  =  of a circle.
The unicycle gets 1 full rotation each time both feet pedal			P= C+s+s
Distance = C x Rotations									   = (2πr)+s+s
                 = 2.2m x 220									   = (2x3.14x6.2cm)+6.2cm+6.2cm
                 = 484m									   = (38.9cm)+12.4cm
									   =0.125(38.9cm)+12.4cm
									   = 4.9cm+12.4cm
									   = 17.3cm
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If the circumference of a
circleis 1m,
the diameter
is 31.83 cm (to 2dp).
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Perimeter = 51.4 cm
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Perimeter = 35 cm
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Perimeter = 23.4 cm
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It is 40,000 km around the world.
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The rainbow is 7.5 km long.
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Ona 10 km ride, each
wheel will revolve
over 4500 times.
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‘The second hand s 15 cm long.
It will take 64 seconds for it
to travel 1 metre.
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A2 pound coin rolled down
a2m slope will revolve
fully 23 times.
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The minute hand is 10 cm long..
From 3:45 t0 5:30,
the hour hand will travel 1.1 m.
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Perimeter = 17.3 cm
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To travel 500 m,
a unicyclist will
only need to pedal
220 times
with each foot.




image1.png
Circumference = 25.1 cm
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If the circumference of a
circle is 50 cm,
the radius is 8.0 cm (to 1dp).
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18 cm

Radius =5.7 cm




